

A kind of identities for generalized q -harmonic numbers and reciprocals of q -binomial coefficients

Jizhen Yang¹ and Yunpeng Wang²

1 Department of Mathematics, Luoyang normal College,
1 Luoyang 471022, P. R. China

2 Department of Mathematics and Physical, Luoyang Institute of Science and
Technology,
2 Luoyang 471022, P. R. China
email:yangjizhen116@163.com

Abstract

The purpose of this paper is to establish q -analogue of some identities and then generalize the result to give identities for finite sums for products of generalized q -harmonic numbers and reciprocals of q -binomial coefficients.

Keywords and phrases: q -analogue, q -harmonic numbers, reciprocals of q -binomial coefficients, finite sums

1 Introduction and Preliminaries

In [1], Bhatnagar referred to the following identity.

$$\sum_{k=1}^n \frac{1}{k(k+1)\dots(k+m)} = \frac{1}{m} \left(\frac{1}{m!} - \frac{1}{(n+1)\dots(n+m)} \right). \quad (1)$$

In [9], Sofo gave the generalization of (1) and obtained its integral rep-

resentation as follows.

$$\sum_{n=1}^p \frac{1}{n \binom{n+z}{z}} = \int_0^1 (1-x)^{z-1} (1-x^p) dx = \frac{1}{z} - \frac{1}{z \binom{p+z}{z}}. \quad (2)$$

Further more, by differentiating (2) , Sofo obtained the following result.

Theorem 1.1 *Let $z \in \mathbb{R} \setminus \mathbb{Z}_0^-$ and $p, q \in \mathbb{N}$. Then*

$$\sum_{n=1}^p \frac{qQ^{(q-1)}(n, z) + zQ^{(q)}(n, z)}{n} = -Q^{(q)}(p, z), \quad (3)$$

and when $z = 0$,

$$\sum_{n=1}^p \frac{qQ^{(q-1)}(n, 0)}{n} = -Q^{(q)}(p, 0), \quad (4)$$

where $Q(n, z) = \binom{n+z}{z}^{-1}$ and $Q(n, 0) = 1$,

$$Q^{(\lambda)}(n, z) = \frac{d^\lambda Q}{dz^\lambda} = - \sum_{\rho=0}^{\lambda-1} \binom{\lambda-1}{\rho} Q^{(\rho)}(n, z) P^{(\lambda-1-\rho)}(n, z), \quad (5)$$

and

$$P^{(i)}(n, z) = \frac{d^i P}{dz^i} = \frac{d^i}{dz^i} \left(\sum_{r=1}^n \frac{1}{r+z} \right) = (-1)^i i! \sum_{r=1}^n \frac{1}{(r+z)^{i+1}},$$

The purpose of this paper is to give the q -analogue of (1) and Theorem1.1. By this method we shall give some identities involving finite sums for products of generalized q -harmonic numbers and reciprocals of q -binomial coefficients.

First, we introduce the following definitions.

The q -Gamma function:

$$\Gamma_q(x) = \frac{(q; q)_\infty}{(q^x; q)_\infty} (1-q)^{1-x} \quad (0 < q < 1). \quad (6)$$

The q -binomial coefficients:

$$\begin{bmatrix} \alpha \\ \beta \end{bmatrix} = \frac{\Gamma_q(\alpha + 1)}{\Gamma_q(\beta + 1)\Gamma_q(\alpha - \beta + 1)}. \quad (7)$$

The q -Beta function:

$$B_q(x, y) = \frac{\Gamma_q(x)\Gamma_q(y)}{\Gamma_q(x + y)}. \quad (8)$$

The q -integral:

$$\int_0^1 f(t) d_q t = (1 - q) \sum_{n=0}^{\infty} f(q^n) q^n. \quad (9)$$

The generalized q -harmonic numbers:

$$H_n^{(m)}(q) = \sum_{r=1}^n \frac{1}{(1 - q^r)^m}.$$

Specially, q -harmonic number:

$$H_n^{(1)}(q) = \sum_{r=1}^n \frac{1}{1 - q^r}.$$

The following results which will be useful throughout this paper.

$$B_q(x, y) = \int_0^1 t^{x-1} \frac{(tq; q)_{\infty}}{(tq^y; q)_{\infty}} d_q t \quad (Re(x) > 0, y \neq 0, -1, -2, \dots), \quad ([4]). \quad (10)$$

$${}_2\phi_1(a, b; c; q, c/ab) = \frac{(c/a, c/b; q)_{\infty}}{(c, c/ab; q)_{\infty}}, \quad ([4]). \quad (11)$$

$${}_2\phi_1(q^a, q^b; q^c; q, z) = \frac{\Gamma_q(c)}{\Gamma_q(b)\Gamma_q(c-b)} \int_0^1 t^{b-1} \frac{(tzq^a, tq; q)_{\infty}}{(tz, tq^{c-b}; q)_{\infty}} d_q t, \quad ([10]). \quad (12)$$

The Stirling numbers of the second kind $S(n, k)$ satisfy the triangular recurrence relation:

$$S(n, k) = S(n - 1, k - 1) + kS(n - 1, k), n, k \geq 1;$$

$$S(n, 0) = S(0, k) = 0, \text{ except } S(0, 0) = 1, ([2]).$$

2 Main results

Theorem 2.1 Let $0 < q < 1$, $z \in \mathbb{R} \setminus \mathbb{Z}_0^-$ and $p \in \mathbb{N}$. Then

$$\sum_{n=1}^p \frac{t^n}{(1 - q^n) \left[\begin{smallmatrix} n+z \\ z \end{smallmatrix} \right]} = \frac{t}{1 - q} \int_0^1 \frac{(xq; q)_\infty (1 - x^p t^p)}{(xq^{z+1}; q)_\infty (1 - xt)} d_q x \quad (13)$$

Proof. By (6)-(10), we have

$$\begin{aligned} & \sum_{n=1}^p \frac{t^n}{(1 - q^n) \left[\begin{smallmatrix} n+z \\ z \end{smallmatrix} \right]} = \sum_{n=1}^p \frac{t^n \Gamma_q(n+1) \Gamma_q(z+1)}{(1 - q^n) \Gamma_q(n+z+1)} \\ &= \sum_{n=1}^p \frac{t^n}{1 - q} B_q(n, z+1) \\ &= \sum_{n=1}^p \frac{t^n}{1 - q} \int_0^1 x^{n-1} \frac{(xq; q)_\infty}{(xq^{z+1}; q)_\infty} d_q x \\ &= \frac{t}{1 - q} \int_0^1 \frac{(xq; q)_\infty}{(xq^{z+1}; q)_\infty} \sum_{n=1}^p (xt)^{n-1} d_q x \\ &= \frac{t}{1 - q} \int_0^1 \frac{(xq; q)_\infty (1 - x^p t^p)}{(xq^{z+1}; q)_\infty (1 - xt)} d_q x. \end{aligned}$$

□

Corollary 2.2 Let $0 < q < 1$, $z \in \mathbb{R} \setminus \mathbb{Z}_0^-$ and $p \in \mathbb{N}$. Then

$$\sum_{n=1}^p \frac{q^{zn}}{(1 - q^n) \left[\begin{smallmatrix} n+z \\ z \end{smallmatrix} \right]} = \frac{q^z}{1 - q^z} \left(1 - \frac{q^{pz}}{\left[\begin{smallmatrix} p+z \\ z \end{smallmatrix} \right]} \right).$$

Proof. We rewrite Theorem 2.1 as follows

$$\begin{aligned}
 & \frac{t}{1-q} \int_0^1 \frac{(xq, xtq; q)_\infty}{(xq^{z+1}, xt; q)_\infty} d_q t - \frac{t}{1-q} \int_0^1 \frac{(xq, xtq; q)_\infty}{(xq^{z+1}, xt; q)_\infty} (xt)^p d_q t \\
 = & \frac{t}{1-q^{z+1}} {}_2\phi_1(q, q; q^{z+2}; q, t) - \frac{t(q; q)_p}{(q^{z+1}; q)_{p+1}} {}_2\phi_1(q, q^{p+1}; q^{z+p+2}; q, t).
 \end{aligned} \tag{14}$$

Taking $t = q^z$ in (14) and by (11), the right hand side of (14) equals

$$\begin{aligned}
 & \frac{q^z}{1-q^{z+1}} \frac{(q^{z+1}, q^{z+1}; q)_\infty}{(q^{z+2}, q^z; q)_\infty} - \frac{q^z(q; q)_p}{(q^{z+1}; q)_{p+1}} \frac{(q^{z+p+1}, q^{z+1}; q)_\infty}{(q^{z+p+2}, q^z; q)_\infty} \\
 = & \frac{q^z}{1-q^z} - \frac{q^z(q; q)_p}{(1-q^z)(q^{z+1}; q)_p} \\
 = & \frac{q^z}{1-q^z} \left(1 - \frac{q^{pz}}{\begin{bmatrix} p+z \\ z \end{bmatrix}} \right).
 \end{aligned}$$

□

Corollary 2.3 *Let $0 < q < 1$ and $m, p \in \mathbb{N}$. Then*

$$\sum_{n=1}^p \frac{q^{mn}}{(q^n; q)_{m+1}} = \frac{q^m}{1-q^m} \left(\frac{1}{(q; q)_m} - \frac{q^{pm}}{(q^{p+1}; q)_m} \right).$$

Proof. Take $z = m$ in Corollary 2.2. □

This identity is the q -analogue of (1).

Corollary 2.4 (*([9, (8)])*) *Let $z \in \mathbb{R} \setminus \mathbb{Z}_0^-$ and $p \in \mathbb{N}$. Then*

$$\sum_{n=1}^p \frac{1}{n \binom{n+z}{z}} = \frac{1}{z} \left(1 - \frac{1}{\binom{p+z}{z}} \right).$$

Proof. Take $q \rightarrow 1$ in Corollary 2.2. □

Corollary 2.5 Let $0 < q < 1$, $z > 0$ and $z \neq 1$, $p \in \mathbb{N}$. Then

$$\sum_{n=1}^p \frac{z^n (q; q)_{n-1}}{(zq; q)_n} = \frac{z}{1-z} \left(1 - \frac{z^p (q; q)_p}{(zq; q)_p} \right).$$

Proof. Take $q^z \rightarrow z$ in Corollary 2.2. \square

Lemma 2.6 Let $0 < q < 1$, $z \neq -r$, $N \in \mathbb{Z}_0^+$, $y(z) = \frac{1}{q^{z+r}-1}$. Then

$$y^{(N)}(z) = (-\ln q)^N \sum_{k=0}^N \frac{k! S(N+1, k+1)}{(q^{z+r}-1)^{k+1}}.$$

Proof. We have

$$\begin{aligned} y'(z) &= (-\ln q) \left(\frac{1}{q^{z+r}-1} + \frac{1}{(q^{z+r}-1)^2} \right), \\ y''(z) &= (-\ln q)^2 \left(\frac{1}{q^{z+r}-1} + \frac{3}{(q^{z+r}-1)^2} + \frac{2}{(q^{z+r}-1)^3} \right), \\ y'''(z) &= (-\ln q)^3 \left(\frac{1}{q^{z+r}-1} + \frac{7}{(q^{z+r}-1)^2} + \frac{12}{(q^{z+r}-1)^3} \right. \\ &\quad \left. + \frac{6}{(q^{z+r}-1)^4} \right). \end{aligned}$$

Inspection of these three equations leads to the formation of the following sum which can be easily proved by induction.

$$y^{(N)}(z) = (-\ln q)^N \sum_{k=0}^N \frac{a_{N,k}}{(q^{z+r}-1)^{k+1}},$$

where $a_{k,k} = k!$, $a_{N,0} = 1$ for $N \geq 0$, $a_{N,k} = 0$ for $k > N$ and when $N \geq 1$

$$a_{N,k} = ka_{N-1,k-1} + (k+1)a_{N-1,k}. \quad (15)$$

Letting $a_{N,k} = k!b_{N+1,k+1}$ in (15), where $b_{N,0} = b_{0,k} = 0$ except $b_{0,0} =$

1, we obtain

$$k!b_{N+1,k+1} = k!b_{N,k} + (k+1)!b_{N,k+1},$$

then we have

$$b_{N+1,k+1} = b_{N,k} + (k+1)b_{N,k+1}.$$

By the recurrence relation of $S(n, k)$, we get

$$b_{N+1,k+1} = S(N+1, k+1),$$

and so

$$a_{N,k} = k!S(N+1, k+1).$$

□

Lemma 2.7 Let $0 < q < 1$, $z \in \mathbb{R} \setminus \mathbb{Z}^-$ and $n \in \mathbb{N}$ and let $Q_q(n, z) = [n+z]_q^{-1}$ be an analytic function of z . Then

$$Q_q^{(1)}(n, z) = -\ln q Q_q(n, z) P_q^{(0)}(n, z), \quad (16)$$

and

$$Q_q^{(\lambda)}(n, z) = \frac{d^\lambda Q}{dz^\lambda} = -\ln q \sum_{\rho=0}^{\lambda-1} \binom{\lambda-1}{\rho} Q_q^{(\rho)}(n, z) P_q^{(\lambda-1-\rho)}(n, z), \quad (17)$$

where $P_q^{(0)}(n, z) = n + \sum_{r=1}^n \frac{1}{q^{z+r}-1}$, and for $m \geq 1$

$$\begin{aligned} P_q^{(m)}(n, z) &= \frac{d^m}{dz^m} \left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right) \\ &= (-\ln q)^m \sum_{r=1}^n \sum_{k=0}^m \frac{k!S(m+1, k+1)}{(q^{z+r}-1)^{k+1}}. \end{aligned}$$

Proof. For

$$Q_q(n, z) = \begin{bmatrix} n+z \\ z \end{bmatrix}^{-1} = \frac{(q; q)_n}{(q^{z+1}, q)_n},$$

and

$$\begin{aligned} \frac{dQ_q(n, z)}{dz} &= -\ln q Q_q(n, z) \sum_{r=1}^n \frac{q^{z+r}}{q^{z+r}-1} \\ &= -\ln q Q_q(n, z) \left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right) \\ &= -\ln q Q_q(n, z) P_q^{(0)}(n, z), \end{aligned}$$

we obtain (16) and differentiating it with respect to the variable z for $\lambda - 1$ times, we get (17). \square

Now we list some particular cases of Lemma 2.7, which will be used later.

$$\begin{aligned} Q_q^{(1)}(n, z) &= -\ln q Q_q(n, z) \sum_{r=1}^n \frac{q^{z+r}}{q^{z+r}-1} \\ &= -\ln q Q_q(n, z) \left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right), \\ Q_q^{(2)}(n, z) &= (\ln q)^2 Q_q(n, z) \left[\left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right)^2 + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right. \\ &\quad \left. + \sum_{r=1}^n \frac{1}{(q^{z+r}-1)^2} \right], \\ Q_q^{(3)}(n, z) &= (-\ln q)^3 Q_q(n, z) \left[\left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right)^3 \right. \\ &\quad \left. + 3 \left(n + \sum_{r=1}^n \frac{1}{q^{z+r}-1} \right) \left(\sum_{r=1}^n \frac{1}{q^{z+r}-1} + \sum_{r=1}^n \frac{1}{(q^{z+r}-1)^2} \right) \right. \\ &\quad \left. + \sum_{r=1}^n \frac{1}{q^{z+r}-1} + \sum_{r=1}^n \frac{3}{(q^{z+r}-1)^2} + \sum_{r=1}^n \frac{2}{(q^{z+r}-1)^3} \right]. \end{aligned}$$

When $z = 0$, we have

$$\begin{aligned} Q_q^{(1)}(n, 0) &= -\ln q \left(n - H_n^{(1)}(q) \right), \\ Q_q^{(2)}(n, 0) &= (\ln q)^2 \left[\left(n - H_n^{(1)}(q) \right)^2 - H_n^{(1)}(q) + H_n^{(2)}(q) \right], \\ Q_q^{(3)}(n, 0) &= (-\ln q)^3 \left[\left(n - H_n^{(1)}(q) \right)^3 + 3 \left(n - H_n^{(1)}(q) \right) \right. \\ &\quad \left. \times \left(-H_n^{(1)}(q) + H_n^{(2)}(q) \right) - H_n^{(1)}(q) + 3H_n^{(2)}(q) - 2H_n^{(3)}(q) \right]. \end{aligned}$$

Lemma 2.8 *Let $0 < q < 1$, $z \in \mathbb{R} \setminus \mathbb{Z}^-$ and $p \in \mathbb{N}$ and let $Q_q(p, z) = \left[\begin{smallmatrix} p+z \\ z \end{smallmatrix} \right]^{-1}$ be an analytic function of z . Then*

$$Q_q^{(N)}(p, z) = (-\ln q)^N \sum_{r=1}^p \sum_{k=0}^N \begin{bmatrix} p \\ r \end{bmatrix} \frac{(-1)^r q^{\binom{r}{2}} (1-q^r) k! S(N+1, k+1)}{(q^{z+r} - 1)^k}. \quad (18)$$

Proof. For $n \geq 0$ and $0 \leq l \leq n$, there holds

$$\sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix} \frac{(q/z; q)_k (zq^{-l}; q)_{n-k}}{1 - xq^k} z^k = \frac{(q; q)_n (xz; q)_{n-l} (zq^{-l}; q)_l}{(x; q)_{n+1}}, \quad (19)$$

see [5]. By taking $n = p - 1, l = 0, z \rightarrow 0, x = q^{z+1}$ and $k = r - 1$ in (19), we have

$$\sum_{r=1}^p \frac{(-1)^r q^{\binom{r}{2}}}{q^{z+r} - 1} \begin{bmatrix} p-1 \\ r-1 \end{bmatrix} = \frac{(q; q)_{p-1}}{(q^{z+1}; q)_p}.$$

For

$$(1 - q^r) \begin{bmatrix} p \\ r \end{bmatrix} = (1 - q^p) \begin{bmatrix} p-1 \\ r-1 \end{bmatrix},$$

we have

$$Q_q(p, z) = \left[\begin{smallmatrix} p+z \\ z \end{smallmatrix} \right]^{-1} = \frac{(q; q)_p}{(q^{z+1}; q)_p} = \sum_{r=1}^p \begin{bmatrix} p \\ r \end{bmatrix} \frac{(-1)^r q^{\binom{r}{2}} (1 - q^r)}{q^{z+r} - 1}.$$

Differentiating the above identity with respect to the variable z for N times and by Lemma 2.6, we can get the results. \square

Theorem 2.9 Let $0 < q < 1$, $z \in \mathbb{R} \setminus \mathbb{Z}^-$, $Q_q(m, z) = \left[\begin{matrix} m+z \\ z \end{matrix} \right]^{-1}$ be an analytic function of z , and $Q_q^{(N)}(m, z)$ be expressed by (17) or (18) for $m \in \mathbb{N}$. Then

$$\sum_{n=1}^p \sum_{N_1=0}^N \frac{(\ln q)^{N_1} \binom{N}{N_1} [(n-p-1)^{N_1} q^{(n-p-1)z} - (n-p)^{N_1} q^{(n-p)z}]}{1-q^n} \times Q_q^{(N-N_1)}(n, z) = (-p \ln q)^N q^{-pz} - Q_q^{(N)}(p, z). \quad (20)$$

Proof. By Corollary 2.2

$$\sum_{n=1}^p \frac{q^{zn}}{(1-q^n) \left[\begin{matrix} n+z \\ z \end{matrix} \right]} = \frac{q^z}{1-q^z} \left(1 - \frac{q^{pz}}{\left[\begin{matrix} p+z \\ z \end{matrix} \right]} \right),$$

we rewrite it as follows

$$\sum_{n=1}^p \frac{[q^{(n-p-1)z} - q^{(n-p)z}] Q_q(n, z)}{1-q^n} = q^{-pz} - Q_q(p, z).$$

Differentiating the above identity with respect to the variable z for N times, we can get the result. \square

Note. Taking $q \rightarrow 1$ in Theorem 2.9, we obtain Theorem 1.1.

Corollary 2.10 Let $0 < q < 1$, $p \in \mathbb{N}$. Then

$$\begin{aligned} \sum_{n=1}^p \frac{H_n^{(1)}(q)}{1-q^n} &= \frac{(H_p^{(1)}(q))^2 + H_p^{(2)}(q)}{2}, \\ \sum_{n=1}^p \frac{(H_n^{(1)}(q))^2 + H_n^{(2)}(q)}{1-q^n} &= \frac{(H_p^{(1)}(q))^3 + 3H_p^{(1)}(q)H_p^{(2)}(q) + 2H_p^{(3)}(q)}{3}, \\ \sum_{n=1}^p \frac{(H_n^{(1)}(q))^3 + 3H_n^{(1)}(q)H_n^{(2)}(q) + 2H_n^{(3)}(q)}{1-q^n} &= \frac{(H_p^{(1)}(q))^4}{4} \\ &+ \frac{6(H_p^{(1)}(q))^2 H_p^{(2)}(q) + 8H_p^{(1)}(q)H_p^{(3)}(q) + 3(H_p^{(2)}(q))^2 + 6H_p^{(4)}(q)}{4}. \end{aligned}$$

Proof. Let $Q_q^{(N)}(p, z)$ and $Q_q^{(N-N_1)}(n, z)$ of (20) be expressed in (17).

Taking $z = 0$, we get the result.

Corollary 2.11 *Let $0 < q < 1$, $p \in \mathbb{N}$. Then*

$$\sum_{n=1}^p \frac{(-1)^n q^{\binom{n+1}{2}}}{1 - q^n} \begin{bmatrix} p \\ n \end{bmatrix} = p - H_p^{(1)}(q), \quad (21)$$

$$\sum_{n=1}^p \frac{(-1)^n q^{\binom{n+1}{2}}}{(1 - q^n)^2} \begin{bmatrix} p \\ n \end{bmatrix} = \frac{p^2 - p - 2pH_p^{(1)}(q) + \left(H_p^{(1)}(q)\right)^2 + H_p^{(2)}(q)}{2}, \quad (22)$$

$$\begin{aligned} & \sum_{n=1}^p \frac{(-1)^n q^{\binom{n+1}{2}}}{(1 - q^n)^3} \begin{bmatrix} p \\ n \end{bmatrix} \\ &= \frac{p^3 - 3p^2 + 2p - 3p^2 H_p^{(1)}(q) + 3p \left[\left(H_p^{(1)}(q)\right)^2 + H_p^{(2)}(q) \right]}{6} \\ & \quad - \frac{\left(H_p^{(1)}(q)\right)^3 + 3H_p^{(1)}(q)H_p^{(2)}(q) + 2H_p^{(3)}(q)}{6}. \end{aligned} \quad (23)$$

Proof. Let $Q_q^{(N-N_1)}(n, z)$ of (20) be expressed by (17) and $Q_q^{(N)}(p, z)$ of (20) be expressed by (18). Taking $z = 0$, we get the result.

Remark. The identity (21) can be written as

$$\sum_{n=1}^p \frac{(-1)^{n-1} q^{\binom{n+1}{2}}}{1 - q^n} \begin{bmatrix} p \\ n \end{bmatrix} = \sum_{r=1}^p \frac{q^r}{1 - q^r}, \quad (24)$$

which is due to Van Hamme [11]. Many generalizations of (24) have been given by different authors. See, for example [3] and [5]. The identity (22) is the $(m, r) = (2, 1)$ case of [6, Theorem 3.12]: *For $m, n \geq 1$ and $0 \leq r \leq m + n - 1$, there holds*

$$\begin{aligned} & \sum_{k=1}^n (-1)^{k-1} \begin{bmatrix} n \\ k \end{bmatrix} \frac{q^{\binom{k}{2} + k(m-r)}}{(1 - q^k)^m} = \binom{r}{m} + \binom{r}{m-1} \sum_{k_1=1}^n \frac{q^{k_1}}{1 - q^{k_1}} \\ & + \binom{r}{m-2} \sum_{1 \leq k_1 \leq k_2 \leq n} \frac{q^{k_1 + k_2}}{(1 - q^{k_1})(1 - q^{k_2})} \end{aligned}$$

$$+ \cdots + \binom{r}{0} \sum_{1 \leq k_1 \leq \cdots \leq k_m \leq n} \frac{q^{k_1 + \cdots + k_m}}{(1 - q^{k_1}) \cdots (1 - q^{k_m})}. \quad (25)$$

Similarly, the identity (23) is the $(m, r) = (3, 2)$ case of (25).

Acknowledgements

We would like to thank the anonymous referee for many valuable suggestions. This research is supported by the National Natural Science Foundation of China (Grant No. 10771093).

References

- [1] G. Bhatnagar. In praise of an elementary identity of Euler. *Elec. J. Comb.*, 18(2)(2011), P13.
- [2] L. Comtet, *Advanced Combinatorics*, Universitaires de France Presses, Paris, 1970.
- [3] K. Dilcher, Some q -series identities related to divisor functions, *Discrete Math.* 145(1995), 83-93.
- [4] G. Gasper, M. Rahman, *Basic Hypergeometric Series*, second ed., Cambridge University Press, Cambridge, 2004.
- [5] V. J. W. Guo, C. Zhang, Some further q -series identities related to divisor functions, *Ramanujan J.* 25(2011), 295-306.
- [6] V. J. W. Guo, J. Zeng, Further (p, q) -identities related to divisor functions, preprint, 2013, arXiv:1312.6537.
- [7] A. Sofu, General properties involving reciprocals of binomial coefficients, *Journal of Integer Sequences*, Vol.9 (2006), Artical 06.4.5.
- [8] A. Sofu, Sums of derivatives of binomial coefficients, *Advances in Applied Mathematics*, 42 (2009):123-134.

- [9] A. Sofo, Reciprocal power sums, INTEGERS 13(2013), #A45.
- [10] J. Thomaе. Beiträge zur Theorie der durch die Heinesche Reihe $1 + \frac{1-q^a}{1-q} \cdot \frac{1-q^b}{1-q^c} x + \frac{1-q^a}{1-q} \cdot \frac{1+q^{a+1}}{1-q^2} \cdot \frac{1-q^b}{1-q^c} \cdot \frac{1-q^{b+1}}{1-q^{c+1}} x^2 + \dots$ darstellbaren Functionen, Journal für die reine und angewandte Mathematik. Journal de Crelle. Berlin. 70, 258-281.
- [11] L. Van Hamme, Advanced problem 6407, Amer. Math. Monthly 40(1982), 703-704.